

DOI: 10.2478/ausm-2018-0008

On generalized nonlinear Euler-Bernoulli Beam type equations

Rabah Khaldi

Laboratory of Advanced Materials,
Department of Mathematics,
Badji Mokhtar-Annaba University,
Algeria
email: rkhadi@yahoo.fr

Assia Guezane-Lakoud

Laboratory of Advanced Materials, Department of Mathematics, Badji Mokhtar-Annaba University, Algeria

email: a_guezane@yahoo.fr

Abstract. This paper is devoted to the study of a nonlinear Euler-Bernoulli Beam type equation involving both left and right Caputo fractional derivatives. Differently from the approaches of the other papers where they established the existence of solution for the linear Euler-Bernoulli Beam type equation numerically, we use the lower and upper solutions method with some new results on the monotonicity of the right Caputo derivative. Furthermore, we give the explicit expression of the upper and lower solutions. A numerical example is given to illustrate the obtained results.

1 Introduction

Fractional differential equations containing a composition of left and right fractional derivatives occur in the fractional theoretical mechanics and may arise naturally in the study of variational problems such as the fractional Euler-Lagrange equations, see [1-5,8,12]. The presence of both left and right fractional derivatives in the nonlinear differential equation poses many complications when trying to apply the existing methods, for this reason, most

Key words and phrases: Euler-Bernouli Beam equation, upper and lower solutions method, existence of solution

²⁰¹⁰ Mathematics Subject Classification: 34A08, 34B15

studies focus on the linear cases and use numerical analysis, we refer the reader to [1,5,12].

In [12] the authors discussed a linear fractional differential equation involving the right Caputo derivative and the left Riemann-Liouville fractional derivative and describing the height of granular material decreasing over time in a silo:

$$^{C}D_{L^{-}}^{\alpha}D_{0^{+}}^{\alpha}u\left(t\right) +bu\left(t\right) =0,0\leq t\leq L,0<\alpha\leq 1.$$

Recently in [5], the author solved analytically and numerically a linear fractional Euler–Bernoulli beam equation containing left and right fractional Caputo derivatives:

$$^{C}D_{L^{-}}^{\alpha C}D_{0^{+}}^{\alpha}u(t) = f(t), 0 \le t \le L, 1 < \alpha \le 2$$

 $u(0) = u'(0) = u(L) = u'(L) = 0,$

that is derived by using a variational approach.

In [8] the authors proved existence of solutions for a nonlinear fractional oscillator equation containing both left Riemann–Liouville and right Caputo fractional derivatives

$$\begin{split} -^{C}D_{1^{-}}^{\alpha}D_{0^{+}}^{\beta}u\left(t\right)+\omega^{2}u\left(t\right) &=& f\left(t,u\left(t\right)\right),\\ 0 &\leq& t\leq1,\omega\in\mathbb{R},\omega\neq0,0<\alpha,\beta<1\\ u\left(0\right) &=& 0,D_{0^{+}}^{\beta}u\left(1\right)=0. \end{split}$$

The main tools for this study was the upper and lower solutions method.

Nonlinear fractional differential equations has been studied by different methods such fixed point theorems, upper and lower solutions method, successive approximations,... see [1-10, 13, 14].

In this paper we focus on a nonlinear Euler-Bernoulli Beam equation involving both left and right Caputo fractional derivatives

$${}^{C}D_{1^{-}}^{\alpha C}D_{0^{+}}^{\beta}u(t) = f(t, u(t)), 0 \le t \le 1,$$
 (1)

with the boundary conditions

$$u(0) = u'(0) = u(1) = D_{0+}^{\beta+1}u(1) = 0,$$
 (2)

Where $1 < \alpha, \beta < 2$, ${}^{C}D_{1^{-}}^{\alpha}$ and ${}^{C}D_{0^{+}}^{\beta}$ denote respectively the right and the left sides Caputo derivatives and $D_{0^{+}}^{\beta+1}$ denotes the left Riemann–Liouville fractional derivative. Denote by (P1) the problem (1)-(2).

Note that the presence of both left and right fractional derivatives leads to great difficulties. To solve problem (P1) we apply the lower and upper solutions method and a new result on the monotonicity for the right Caputo derivative. To succeed with such approach, we transform the problem (P1) to a right Caputo fractional boundary value problem of lower order. After constructing the explicit expressions of the lower and upper solutions, we define a sequence of modified problems that we solve by Schauder fixed point theorem. An example is presented to illustrate the main theorem.

2 **Preliminaries**

In this section, we recall necessary definitions of fractional operators and their properties [11, 15, 16].

The left and right Caputo derivatives of order n-1 are respectivelydefined as

$$\begin{split} ^{C}D_{0^{+}}^{p}g(t) & = & \left(I_{0^{+}}^{1-p}D^{n}g\right)(t), \\ ^{C}D_{1^{-}}^{p}g(t) & = & -\left(I_{1^{-}}^{1-p}D^{n}g\right)(t), \end{split}$$

and the Riemann -Liouville fractional derivative is defined as

$$D_{0+}^{p}g(t) = D^{n}(I_{0+}^{1-p}g)(t),$$

where D^n is the the classical derivative operator of order n and the operators I_{0+}^p and I_{1-}^p are respectively the left and right fractional Riemann-Liouville integrals of order p > 0 defined by

$$I_{0+}^{p}g(t) = \frac{1}{\Gamma(p)} \int_{0}^{t} \frac{g(s)}{(t-s)^{1-p}} ds,$$

$$I_{1-}^{p}g(t) = \frac{1}{\Gamma(p)} \int_{t}^{1} \frac{g(s)}{(s-t)^{1-p}} ds.$$

The composition rules of the fractional operators (for n-1) are:

1-
$$I_{0+}^{pC}D_{0+}^{p}g(t) = g(t) - \sum_{k=0}^{n-1} \frac{g^{(k)}(0)}{k!}t^{k}$$
.

$$\begin{array}{l} \text{1- } I_{0+}^{pC} D_{0+}^p g \left(t \right) = g \left(t \right) - \sum_{k=0}^{n-1} \frac{g^{(k)}(0)}{k!} t^k. \\ \text{2- } I_{1-}^{pC} D_{1-}^p g \left(t \right) = g \left(t \right) - \sum_{k=0}^{n-1} \frac{(-1)^k g^{(k)}(1)}{k!} \left(1 - t \right)^k. \\ \text{3- } {}^C D_{1-}^p Dg \left(t \right) = - {}^C D_{1-}^{p+1} g \left(t \right). \end{array}$$

3-
$${}^{C}D_{1-}^{p}Dg(t) = -{}^{C}D_{1-}^{p+1}g(t)$$
.

4-
$$DD_{0+}^{p}g(t) = D_{0+}^{p+1}g(t)$$
.

Next we give some results on the Caputo derivative of monotone functions.

Theorem 1 [8] Assume that $g \in C^1[0,1]$ is such that ${}^CD_{1-}^{\gamma}g(t) \geq 0$ for all $t \in [0,1]$ and all $\gamma \in (\mathfrak{p},1)$ with some $\mathfrak{p} \in (0,1)$. Then g is monotone decreasing. Similarly, if ${}^CD_{1-}^{\gamma}g(t) \leq 0$ for all t and γ mentioned above, then g is monotone increasing.

3 Main results

To reduce the problem (P1) to an equivalent right Caputo fractional boundary value problem of lower order, we use the following Lemma

Lemma 1 If a function g satisfies g(0) = g'(0), then we have

$$^{C}D_{1^{-}}^{\alpha C}D_{0^{+}}^{\beta }g\left(t\right) =-^{C}D_{1^{-}}^{\alpha -1}D_{0^{+}}^{\beta +1}g\left(t\right) .$$

where $D_{0+}^{\beta+1}$ denotes the Riemann -Liouville fractional derivative.

Proof. The proof is based on the composition rules of the fractional operators. \Box

From Lemma 2, equation (1) can be written as

$$-^{C}D_{1-}^{\alpha-1}D_{0+}^{\beta+1}u\left(t\right) =f\left(t,u\left(t\right) \right) ,0\leq t\leq1.$$

Denote by (P2) the auxiliary problem:

$$(P2) \left\{ \begin{array}{l} D_{0^{+}}^{\beta+1}u\left(t\right) = v\left(t\right), 0 \leq t \leq 1 \\ u\left(0\right) = u'\left(0\right) = u\left(1\right) = 0. \end{array} \right.$$

In the next lemma, we give the solution of (P2)

Lemma 2 If $1 < \beta < 2$, then problem (P2) has a unique solution given by

$$u\left(t\right)=I_{0^{+}}^{\beta+1}v\left(t\right)-t^{\beta}I_{0^{+}}^{\beta+1}v\left(1\right).$$

Let E denotes the Banach space $C([0,1],\mathbb{R})$ equipped with the uniform norm $||u|| = \max_{t \in [0,1]} |u(t)|$. Define the operator T on E by

$$T\nu\left(t\right)=I_{0^{+}}^{\beta+1}\nu\left(t\right)-t^{\beta}I_{0^{+}}^{\beta+1}\nu\left(1\right),t\in\left[0,1\right],$$

thus

$$u\left(t\right)=Tv\left(t\right),t\in\left[0,1\right]$$
 .

From the boundary condition $D_{0^+}^{\beta+1}u(1)=0$, we show that the problem (P1) is equivalent to the following right Caputo boundary value problem of order $0 < \alpha - 1 < 1$:

$$(P3)\left\{ \begin{array}{l} -^{C}D_{1^{-}}^{\alpha-1}\nu\left(t\right)=f\left(t,T\nu\left(t\right)\right),0\leq t\leq1\\ \nu\left(1\right)=0. \end{array} \right.$$

Let us make the following hypotheses:

(H1) There exists a constant $A \geq 0$ such that

$$f(t,x) \geq \frac{-A}{\Gamma(2-\alpha)} (1-t)^{1-\gamma},$$

 $\mathrm{for}\ 0\leq t\leq 1,\ \mathrm{for}\ \mathrm{all}\ \gamma\in [\alpha-1,1)\ \mathrm{and}\ \tfrac{-A(\beta+1)}{\Gamma(3+\beta)}\leq x\leq 0.$

(H2) There exists a constant $B \le 0$ such that $A \ge |B|$ and

$$f(t,x) \le \frac{-B}{\Gamma(2-\alpha)} (1-t)^{1-\gamma},$$

 $\mathrm{for}\ 0\leq t\leq 1,\ \mathrm{for}\ \mathrm{all}\ \gamma\in [\alpha-1,1)\ \mathrm{and}\ 0\leq x\leq \tfrac{-B(\beta+1)}{\Gamma(3+\beta)}.$

To use Theorem 1, we have to adapt the definition of the lower and upper solutions for problem (P1) as follows:

Definition 1 The functions σ , $\overline{\sigma} \in AC^4[0,1]$ are called lower and upper solutions of problem (P1) respectively, if

a) $-{}^{C}D_{1-}^{\gamma}D_{0+}^{\beta+1}\underline{\sigma}(t) \geq f(t,\underline{\sigma}(t))$, for all $t \in [0,1]$ and for all $\gamma \in [\alpha-1,1)$ and

$$\underline{\sigma}(0) \geq 0, \ \underline{\sigma}'(0) \geq 0, \ \underline{\sigma}(1) \geq 0 \ and \ D_{0^+}^{\beta+1}\underline{\sigma}(1) \geq 0.$$

 $\begin{array}{l} \underline{\sigma}\left(0\right)\geq0,\ \underline{\sigma}'\left(0\right)\geq0,\ \underline{\sigma}\left(1\right)\geq0\ \ \text{and}\ \ D_{0^{+}}^{\beta+1}\underline{\sigma}\left(1\right)\geq0.\\ \mathrm{b})\ -^{C}D_{1^{-}}^{\gamma}D_{0^{+}}^{\beta+1}\overline{\sigma}\left(t\right)\leq f\left(t,\overline{\sigma}\left(t\right)\right), \text{for all }t\in\left[0,1\right]\ \ \text{and for all }\gamma\in\left[\alpha-1,1\right) \end{array}$ and

$$\overline{\sigma}\left(0\right)\leq0,\;\overline{\sigma}'\left(0\right)\leq0,\;\overline{\sigma}\left(1\right)\leq0\;\;\text{and}\;\;D_{0^{+}}^{\beta+1}\overline{\sigma}\left(1\right)\leq0.$$
 Where

$$AC^{4}\left[0,1\right]=\left\{ u\in C^{3}\left[0,1\right],u^{\left(3\right)}\text{ absolutely continuous function on }\left[0,1\right]\right\} .$$

Functions σ and $\overline{\sigma}$ are lower and upper solutions in reverse order if $\sigma(t) \geq$ $\overline{\sigma}(t), 0 \le t \le 1.$

Lemma 3 Under the hypotheses (H1) and (H2), the problem (P1) has a lower and an upper solutions.

Proof. Define $\varphi(t) = A(1-t)$, then we get

$$\begin{array}{ll} 0 & \geq & T\phi\left(t\right) = I_{0^{+}}^{\beta+1}\phi\left(t\right) - t^{\beta}I_{0^{+}}^{\beta+1}\phi\left(1\right) \\ & = & \frac{At^{\beta}}{\Gamma\left(3+\beta\right)}\left(-t^{2} + t\left(\beta+2\right) - \left(\beta+1\right)\right) \geq \frac{-A\left(\beta+1\right)}{\Gamma\left(3+\beta\right)}. \end{array}$$

By computation we obtain for $\gamma \in [\alpha - 1, 1)$

$$^{C}D_{1-}^{\gamma}\phi\left(t\right)=\frac{A}{\Gamma\left(2-\gamma\right)}\left(1-t\right)^{1-\gamma},$$

Now, we show that $\overline{\sigma}(t) = T\phi(t)$ is an upper solution of problem (P1). By the help of hypothesis (H1), we have for all $t \in [0, 1]$ and for all $\gamma \in [\alpha - 1, 1)$

$$\begin{array}{lcl} -^{C}D_{1-}^{\gamma}D_{0+}^{\beta+1}\overline{\sigma}\left(t\right) & = & -^{C}D_{1-}^{\gamma}\phi\left(t\right) = \frac{-A}{\Gamma\left(2-\gamma\right)}\left(1-t\right)^{1-\gamma} \\ & \leq & f\left(t,T\phi\left(t\right)\right) = f\left(t,\overline{\sigma}\left(t\right)\right) \end{array}$$

in addition $\overline{\sigma}(0) \leq 0$, $\overline{\sigma}'(0) \leq 0$, $\overline{\sigma}(1) \leq 0$ and $D_{0^+}^{\beta+1}\overline{\sigma}(1) \leq 0$, consequently $\overline{\sigma}(t) = T\phi(t)$ is an upper solution of problem (P1).

Similarly, setting $\psi(t) = B(1-t)$ and taking hypothesis (H2) into account, we show that $\underline{\sigma}(t) = T\psi(t)$ is a lower solution of problem (P1). Finally we write the explicit expressions of the upper and lower solutions as

$$\begin{split} \overline{\sigma}\left(t\right) &= T\phi\left(t\right) = \frac{At^{\beta}}{\Gamma\left(3+\beta\right)} \left(-t^2 + t\left(\beta+2\right) - \left(\beta+1\right)\right) \leq 0, \\ \underline{\sigma}\left(t\right) &= T\psi\left(t\right) = \frac{Bt^{\beta}}{\Gamma\left(3+\beta\right)} \left(-t^2 + t\left(\beta+2\right) - \left(\beta+1\right)\right) \geq 0, \end{split}$$

and then $\underline{\sigma}$ and $\overline{\sigma}$ are lower and upper solutions in reverse order, i.e

$$\overline{\sigma}(t) \leq \underline{\sigma}(t), 0 \leq t \leq 1.$$

The proof is completed.

Let us introduce the following sequence of modified problems $\left((P4)_{\gamma}\right)$, for $\gamma \in [\alpha-1,1)$:

$$\left(\left(P4\right)_{\gamma}\right)\left\{\begin{array}{l} -^{C}D_{1-}^{\gamma}\nu\left(t\right)=F\nu\left(t\right),0\leq t\leq1\\ \nu\left(1\right)=0, \end{array}\right.$$

where the operator $F: E \to E$, is defined by

$$Fv\left(t\right)=f\left(t,T\left(\min\left(\phi,\max\left(\nu,\psi\right)\right)\right)\right),0\leq t\leq1.$$

The relation between the solution of the sequence of modified problem $(P4)_{\gamma}$ and the solution of problem (P1) is given in the following lemma:

Lemma 4 If v is a solution of problem $((P4)_{\alpha-1})$, then u = Tv is a solution of problem (P1) satisfying

$$\overline{\sigma}(t) \le u(t) \le \underline{\sigma}(t), 0 \le t \le 1.$$
 (3)

Proof. Let ν_{γ} be a solution of problem $((P4)_{\gamma})$ for $\gamma \in [\alpha - 1, 1)$, we shall prove that

$$\psi\left(t\right) \leq \nu_{\gamma}\left(t\right) \leq \phi\left(t\right), 0 \leq t \leq 1. \tag{4}$$

For this purpose, set ε (t) = ν_{γ} (t) - ϕ (t). It's clear that ε (1) = 0. Suppose the contrary, i.e. there exists $t_1 \in (0,1]$ such that ε (t₁) > 0, since ε is continuous, then there exist $a \in [0,t_1]$ and $b \in (t_1,1]$ such that ε (b) = 0 and ε (t) \geq 0, for all $t \in [a,b]$. By taking the right Caputo derivative of ε , it yields

$$\begin{split} ^{C}D_{1-}^{\gamma}\varepsilon\left(t\right) &= \ ^{C}D_{1-}^{\gamma}\nu_{\gamma}\left(t\right)-^{C}D_{1-}^{\gamma}\phi\left(t\right) \\ &= \ -f\left(t,T\left(\min\left[\phi,\left(\max\left(\nu_{\gamma},\psi\right)\right)\right]\right)\right)-^{C}D_{1-}^{\gamma}\phi\left(t\right) \\ &= \ -f\left(t,T\phi\left(t\right)\right)-^{C}D_{1-}^{\gamma}\phi\left(t\right). \end{split}$$

Taking in to account that $\overline{\sigma} = T\phi(t)$ is an upper solution, we conclude that ${}^CD_{1-}^{\gamma}\varepsilon(t) \leq 0, \ t \in [a,b],$ therefore, ε is increasing on [a,b] by Theorem 1. Since $\varepsilon(b) = 0$, then $\varepsilon(t) \leq 0$, for all $t \in [a,b]$ and thus $\nu_{\gamma}(t) \leq \phi(t)$, $t \in [a,b]$ that leads to a contradiction. Proceeding by the same way, we prove that $\psi(t) \leq \nu_{\gamma}(t), \ t \in [0,1].$

Now, let ν be a solution of problem $((P4)_{\alpha-1})$, then thanks to inequalities (4) we have

$$-^{C}D_{1^{-}}^{\alpha-1}\nu\left(t\right) =F\nu\left(t\right) =f\left(t,T\nu\left(t\right) \right) ,$$

hence ν is a solution of (P3) and consequently $\mathfrak{u} = \mathsf{T}\nu$ is a solution of (P1). Let us rewrite the operator T as

$$Tv(t) = \frac{1}{\Gamma(1+\beta)} \int_{0}^{1} G(t,s) v(s) ds$$

where the Green function G given by

$$G(t,s) = \begin{cases} (t-s)^{\beta} - t^{\beta} (1-s)^{\beta}, s \leq t \\ -t^{\beta} (1-s)^{\beta}, s \geq t \end{cases}$$

is negative for $0 \le s, t \le 1$, consequently, by applying the operator T to (4) it yields

$$T\varphi(t) \leq T\nu(t) \leq T\psi(t), 0 \leq t \leq 1,$$

thus (3) holds. This achieves the proof.

Now we are ready to prove our main results for problem (P1):

Theorem 2 Under the hypotheses (H1) and (H2), the problem (P1) has at least one solution **u** satisfying

$$\overline{\sigma}(t) \le u(t) \le \underline{\sigma}(t), 0 \le t \le 1.$$

Proof. Define the operator R on E, by

$$\begin{split} R\nu\left(t\right) &=& -I_{1-}^{\alpha-1}F\nu\left(t\right) \\ &=& -I_{1-}^{\alpha-1}f\left(t,T\left(\min\left(\phi,\max\left(\nu,\psi\right)\right)\right)\right), 0 \leq t \leq 1. \end{split}$$

Let us remark that if R has a fixed point ν then $u=T\nu$ is a solution of (P1). Set

$$\Omega = \{ v \in C[0,1], \|v\| \le \frac{M}{\Gamma(\alpha)} \}.$$

where

$$M=\max\{\left|f(t,x)\right|,\overline{\sigma}\left(t\right)\leq x\leq\underline{\sigma}\left(t\right),0\leq t\leq1\}\text{.}$$

Let us prove that $R(\Omega)$ is uniformly bounded, equicontinuous and $R(\Omega) \subset \Omega$. Let $\nu \in \Omega$, then $\overline{\sigma}(t) \leq T(\min(\phi, \max(\nu, \psi)))(t) \leq \underline{\sigma}(t)$ we get

$$\begin{split} |R\nu\left(t\right)| & \leq & I_{1^{-}}^{\alpha-1} \left| f\left(t, T\left(\min\left(\phi, \max\left(\nu, \psi\right)\right)\right)\left(t\right)\right) \right| \\ & = & \frac{1}{\Gamma\left(\alpha-1\right)} \int_{t}^{1} \frac{\left| f\left(s, T\left(\min\left(\phi, \max\left(\nu, \psi\right)\right)\right)\left(s\right)\right)\right|}{\left(s-t\right)^{2-\alpha}} ds \\ & \leq & \frac{M}{\Gamma\left(\alpha\right)}, \end{split}$$

therefore $R\left(\Omega\right)$ is uniformly bounded and $R\left(\Omega\right)\subset\Omega$. Let $0\leq t_{1}< t_{2}\leq 1$, for simplicity we denote $g(t)=f\left(t,T\left(\min\left(\phi,\max\left(\nu,\psi\right)\right)\right)(t)\right)$, we have

$$\begin{split} | \text{Rv} \left(t_1 \right) - \text{Rv} \left(t_2 \right) | & \leq \left| I_{1^-}^{\alpha - 1} g \left(t_1 \right) - I_{1^-}^{\alpha - 1} g \left(t_2 \right) \right| \\ & \leq \left| \frac{1}{\Gamma \left(\alpha - 1 \right)} \int_{t_1}^{t_2} \left(s - t_1 \right)^{\alpha - 2} | g \left(s \right) | \, ds + \\ & \frac{1}{\Gamma \left(\alpha - 1 \right)} \int_{t_2}^{1} \left(\left(s - t_1 \right)^{\alpha - 2} - \left(s - t_2 \right)^{\alpha - 2} \right) | g \left(s \right) | \, ds \\ & \leq \left| \frac{M}{\Gamma \left(\alpha \right)} \left((1 - t_1)^{\alpha - 1} - (1 - t_2)^{\alpha - 1} \right) \to 0, t_1 \to t_2, \end{split}$$

hence, $R(\Omega)$ is equicontinuous. By Arzela-Ascoli Theorem we conclude that R is completely continuous. Finally an application of Schauder fixed point theorem implies that R has a fixed point $v \in \Omega$, and so u = Tv is a solution of (P1) satisfying from Lemma 7, $\underline{\sigma}(t) \leq u(t) \leq \overline{\sigma}(t)$, $0 \leq t \leq 1$. The proof is completed.

Next, we present an example to illustrate the obtained results.

Example 1 Consider the problem (P1) with $\alpha = \frac{5}{3}$, $\beta = \frac{3}{2}$ and

$$f(t,x) = \frac{2\Gamma\left(\frac{9}{2}\right)}{5\Gamma\left(\frac{1}{3}\right)}x(1-t)^{\frac{1}{3}}, 0 \le t \le 1, x \in \mathbb{R}.$$

If we choose A=1 and B=-1, then Hypotheses (H1) and (H2) are satisfied, in fact for for $\gamma \in [\frac{2}{3},1), 0 \leq t \leq 1, \frac{-5}{2\Gamma(\frac{9}{3})} \leq x \leq 0$, we have

$$f(t,x) = \frac{2\Gamma(\frac{9}{2})}{5\Gamma(\frac{1}{3})}x(1-t)^{\frac{1}{3}} = \frac{2\Gamma(\frac{9}{2})}{5\Gamma(\frac{1}{3})}x(1-t)^{1-\frac{2}{3}}$$
$$\geq \frac{-1}{\Gamma(\frac{1}{3})}(1-t)^{1-\frac{2}{3}} \geq \frac{-1}{\Gamma(\frac{1}{3})}(1-t)^{1-\gamma}.$$

and if $\gamma \in [\frac{2}{3}, 1), 0 \le t \le 1, 0 \le x \le \frac{5}{2\Gamma(\frac{9}{2})}$, it yields

$$\begin{split} f\left(t,x\right) &= \frac{2\Gamma\left(\frac{9}{2}\right)}{5\Gamma\left(\frac{1}{3}\right)} x \left(1-t\right)^{\frac{1}{3}} &= \frac{2\Gamma\left(\frac{9}{2}\right)}{5\Gamma\left(\frac{1}{3}\right)} x \left(1-t\right)^{1-\frac{2}{3}} \\ &\leq \frac{1}{\Gamma\left(\frac{1}{3}\right)} \left(1-t\right)^{1-\frac{2}{3}} \leq \frac{1}{\Gamma\left(\frac{1}{3}\right)} \left(1-t\right)^{1-\gamma}. \end{split}$$

The expressions of lower and upper solutions are

$$\begin{split} \overline{\sigma}\left(t\right) &=& T\phi\left(t\right) = \frac{t^{\frac{3}{2}}}{\Gamma\left(\frac{9}{2}\right)}\left(-t^2 + \frac{7}{2}t - \frac{5}{2}\right) \leq 0, \\ \underline{\sigma}\left(t\right) &=& T\psi\left(t\right) = \frac{-t^{\frac{3}{2}}}{\Gamma\left(\frac{9}{2}\right)}\left(-t^2 + \frac{7}{2}t - \frac{5}{2}\right) \geq 0. \end{split}$$

References

[1] O. P. Agrawal, Formulation of Euler-Lagrange equations for fractional variational problems, *J. Math. Anal. Appl.*, **272** (1) (2002), 368–379.

- [2] O. P. Agrawal, Analytical schemes for a new class of fractional differential equations, *J. Phys. A: Math. Theor.*, **40** (2007), 5469–5477.
- [3] O. P. Agrawal, Fractional variational calculus and transversality condition, J. Phys. A, Mathematical and General, 39 (2006), 10375–10384.
- [4] D. Baleanu, J. H. Asad, I. Petras, Fractional order two electric pendulum, Rom. Rep. Phys, 64 (4) (2012), 907–914.
- [5] T. Blaszczyk, Analytical and numerical solution of the fractional Euler–Bernoulli beam equation, J. Mech. Mater. Struct., 12 (1) (2017), 23–34.
- [6] C. De Coster and P. Habets, Two-Point Boundary Value Problems: Lower and upper solutions, Math. Sci. Eng. Vol 205, Series Editor: C.K. Chui, Elsevier, 2006.
- [7] D. Franco, Juan J. Nieto, D. O'Regan, Upper and lower solutions for first order problems with nonlinear boundary conditions, *Extracta Math.*, **18** (2003), 153–160.
- [8] A. Guezane-Lakoud, R. Khaldi, and D. F. M. Torres, On a fractional oscillator equation with natural boundary conditions, *Progr. Fract. Differ.* Appl., 3 (3) (2017), 191–197.
- [9] D. Jiang, Y. Yang, J. Chu, J, D. O'Regan, The monotone method for Neumann functional differential equations with upper and lower solutions in the reverse order. *Nonlinear Anal.*, Theory Methods Appl., 67 (2007), 2815-2828.
- [10] R. Khaldi, A. Guezane-Lakoud, Upper and lower solutions method for higher order boundary value problems, *Progr. Fract. Differ. Appl.*, 3 (1) (2017), 53–57.
- [11] A. A. Kilbas, H. M. Srivastava, and J. J. Trujillo, Theory and Applications of Fractional Differential Equations, North-Holland Mathematics Studies, Elsevier Science, Amsterdam, The Netherlands, 2006.
- [12] J. S. Leszczynski, T. Blaszczyk, Modeling the transition between stable and unstable operation while emptying a silo, *Granular Matter*, 13 (2011), 429–438.
- [13] Y. Li, Existence of positive solutions for the cantilever beam equations with fully nonlinear terms, Nonlinear Anal. Real World Appl., 27 (2016), 221–237.

- [14] F. Minhos, T. Gyulov, A.I. Santos, Lower and upper solutions for a fully nonlinear beam equation, *Nonlinear Anal.*, **71** (2009), 281–292.
- [15] I. Podlubny, Fractional Differential Equation, Academic Press, Sain Diego, 1999.
- [16] S. G. Samko, A. A. Kilbas and O. I. Marichev, Fractional Integrals and Derivatives: Theory and Applications, Gordon and Breach, Yverdon, Switzerland, 1993.

Received: May 8, 2017